(17~ =(%))

A8, (19, (Z4%)7- =(0)
(€9, (%) (T+X) - =(X))
, €%, (1-%) (T+X)€ -~ =(X)3
€%, (1-%) (T+X)=(%)J

6%, (17%) (£ X)5=(x)y

1(£-%), (1-%) (74+X)=(x)J

(€9, (1-%) (T+X)7=(X)J

(4 I - €
R dn dn <\/
| Jjuaduey, | /sasso1) | /sa33i x / (€-%), (1-%) (24%)=(x);
LXe WEy | 1R £=X [=X =X
29190 10308] Surpuodsa.Lio)) Jo 1amMog (X)) _
1SOUSIE JO WLIDY, | Jdo1Awyag puy | AUPBUBLISIBBIAL‘S8S01D) 00y 1Y Jo ydeao

loiaeyag [elwouhjod




PRACTICE: Polynomial Behavior

Name

Sketch each graph without the use of a calculator. Identify the highest-
powered term and all zeros.

1

~—r

2)

3

Q"

4)

5

S

6

Nt

7

p—

8)

9)

10)

Function

Highest-

Zeros

Graph
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